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PART—2 : GENERAL KNOWLEDGE .

51. Who became the youngest Chief
Minister of Uttar Pradesh?

(A) V. P. Singh
(B) Akhilesh Yadav
(C) Govind Ballabh Pant
(D), Kamlapati Tripathi
52. What is the cause of ‘free play’ in
steering?
(A) Steering becomes hard
(B) Steering becomes loose
(C) Tyres are worn
(D) None of the above
53. What is the normal pressure to be

maintained when CNG is filled in
vehicles as E&v

(A) 200-250 kg/cm?
(B) 100-150 kg/cm?
(C) 250-300 kg/cm?
(D) 150-200 kg/cm?
54. When the speed of bus Eon@mmmm_ lights

also brighten up. Which condition does
it represent?

(A) Lower air pressure in tyres
(B) Weak batteries =
(C) Weak circuits
(D) Less diesel in fuel tanks
§55. In India, initially who implemented
traffic system?
(A) Mughal rulers
(B) Indian rulers
(C) British rulers
(D) Dutch rulers

SMSA-2015/3-C

56. In the first phase of Uttar Pradesh
Government’s Lucknow Metro Plan,
scheduled to be operational from
October 2016, the Metro service will
run from

(A) Transport Nagar to Charbagh
(B) Hazratganj to Munshi Pulia
(C) Hazratganj to Gomti Nagar
(D) Sachivalaya to Munshi Pulia
57. In Uttar Pradesh, Yamuna Expressway

has been built to connect which of the
following two cities?

(A) "Agra and Noida
(B) Agra and Lucknow
(C) Agra and Allahabad
(D) Agra and Bareilly
58. When did Akhilesh Yadav, CM of Uttar
Pradesh, inaugurate Yamuna Express-
way?
(A) 9th August, 2012
(B) 9th August, 2013
(C) 9th August, 2014
(D) 26th January, 2013
59. What is the number for ‘Women
Helpline’ in Uttar Pradesh?
(A) 1009 (B) 1661
(C) 1190 (D) 1090
60. In Uttar Pradesh, under Kanya Vidya
Dhan Yojana’ to encourage girls for

education, how much amount is
provided?

(A) ¥20,000
(B) 30,000
(©) 25,000
(D) ¥ 15,000
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61. Who is the first player in history to
score a double century in One Day
International Cricket?

(A) Virender Sehwag
(B) Sachin Tendulkar
(C) Shikhar Dhawan

(D) Rohit Sharma

62. Who is the poet of Madhushala?
(A) Harivansh Rai Bachchan
(B) Maithili Sharan Gupta
(C) Rabindranath Tagore

(D) Jaishankar Prasad

63. Which is the brightest planet? -
(A) Jupiter
(B) Venus
(C) Mercury
(D) Mars
64. Which is the largest public sector bank
in India?
(A) State Bank of India
(B) Punjab National Bank
(C) Canara Bank
(D) Central Bank
65. Who gave the slogan ‘Inquilab
Zindabad’?
(A) Bhagat Singh
(B) Chandrashekhar Azad
(C) Subhash Chandra Bose

(D) Jawaharlal Nehru

SMSA-2015/3-C

66. What was the main theme of the
Republic Day Parade on 26th January,
2015?

(A) Women Empowerment
(B) Make in India
(C) Clean India Campaign
(D) Literacy
67. Which film was awarded the title of best

film for the year 2014 in 60th Filmfare
Awards function held in January 2015?

(A) Happy New Year
(B) Haider
(C) Queen
(D) pk
68. Which State in India shares its border
with maximum neighbouring States?
(A) Madhya Pradesh
(B) Uttar Pradesh
(C) Haryana
(D) Rajasthan
69. In order to encourage savings in general
public, which scheme has been

reenforced by the present Indian
Government?

(A) Sukanya Yojana
(B) Kisan Vikas Patra
(C) Kisan Vidya Dhan
(D) PPF
70. Who is the ex officio Chairperson of
the Rajya Sabha?
(A) The Prime Minister
(B) The President
(C) The Vice President
(D) The Lok Sabha Speaker

[P.T.O.
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71. What is the rank of Uttar Pradesh in
India in sugarcane farming?

(A) Second
(B) Fifth
(C) Third
(D) First
72. Which State has recently launched
‘Aap Ki Beti, Hamari Beti’ scheme?
(A) Haryana
,.w. Uttar Pradesh
(C) Rajasthan
(D) Punjab

73. Which is the highest dam in India?

‘(A) Bhakra Nangal
(B) Sardar Sarovar
(C) Tehri
(D) Rihand
74. Who gave the title ‘Father of the Nation’
to Mahatma Gandhi?
(A) Subhash Chandra Bose
(B) Sardar Patel
(C) Jawaharlal Nehru
(D) Bal Gangadhar Tilak
75. ECG is conducted to analyze the
functioning of
(A) kidney
(B) mental illness
(C) heart

(D) stomach

SMSA-2015/3-C 13

76. Which of the following diseases occurs
due to consumption of polluted water?

(A) Flu
(B) Cholera
(C) Malaria
(D) TB

77. The International Population Day’ is
celebrated every year on

(A) 31st October
(B) 11th July
(C) 15th August
(D) 22nd March
78. Which is the most populated State in
India?
(A) Kerala
(B) Bihar
(C) Uttar Pradesh

(D) Maharashtra

79. Ustad Zakir Hussain is related with
(A) Sarod
(B) Sitar
(C) Tabla
(D) Flute
80. Which cricketer of India has been

appointed as Captain against Zimbabwe
for July 2015 ODI and T-20 series?

(A) Ajinkya Rahane
(B) Virat Kohli
(C) Suresh Raina

(D) Shikhar Dhawan

[P.T. 0.
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H—3 : 9 m@ wiegur A PART—3 : GENERAL INTELLIGENCE TEST
81. m.mw} ,WMA W@ﬁmﬂ.-ﬂmwMA% ‘mm_wﬁ m.@m:m.mﬁﬂu 85. nm.w%:mﬁﬂﬂ_.mmm& oy ﬂ.ﬂﬂﬁﬂ 81. If A and B are running in opposite 85. Out of the given options, find the
,, 9 1o Hio Pral 6 Tho &.o gfer =21 i 81 w..ﬂ T fpedl § @ MWE Bl directions at a speed of 9 km/hr and orie that follows same mathematical
| TR & e TE A 8, @2 60 mﬂ&& * 36t Tt wfsan @ AR 6 km/hr respectively, then what will operation as applied in
, SIgE /
, &= 1 gft o gfte, (64,48, 3] €Y Q@ be the difference between them after (64, 48, 32)
ﬁ JA) 30 o o a\ L el 4@ WN 2 hours? M0
B BReds BTt /\38‘ 72, 54) TF ﬁ ) 90 km (W 90,72, %)
| B) 13 km
, (C) 42 o o G@xvo\mm\\, B (9 o Bl (B) (96, 84, 60)
| i b (B) (96, 84, 60) 92
_ b = / (C) 42 km
Ly (D) 21 fo o [l L= sy ( L
(C) (48, 36, 27) w,\\\\\ “ & ll\ln.mw | (D) 21 km (C) (48, 36, 27)
82. T ﬁmn“mwwa mmoz mm.mo\o Sl ﬂﬁj W D) (16, 12, 9) :u_w-. W@ A 1 82. A survey shows that 62% people watch (D). (116, 12, 9)
” HHER ) .Ab\o & HHER-9F nﬂww -2 [0 ..\m\&\M | news on Doordarshan,. 44% read
W &l 24% Hdwﬁwﬂwuﬁ nww..w 3 ﬂ.ﬁ? newspaper, and 24% watch news on
! W FHER | Toraa wfcea @ W@ 3§ . : Doordarshan and read newspaper. 86. In the given series, one number is
, A A EHER-9E Yed € R A A T W % &w A e m T WA T R e What percent of people neither read wrongly mentioned. Find the wrong
U 3@ 87 ; DR ok o W newspaper nor watch news on number :
| pap
: ?
A) 10% 6 W\\ 121, 143, 165, 186, 209 Dssrpasba: 121, 143, 165, 186, 209
(A) 10% .
: (B) 8% & 4
| @ 186" o b ® 8% =
0
=T
W ) 0 (B) 143 (€) 18% (B) 143
i ) 0%
‘ C) 186 i
y AC)-4186
83, 299 momﬁﬂwu%ﬂ nﬁﬁgw...@.ﬂ_nw@ i 83. Which number precedes the exact
RlaiNich -8 wem it 27 (D) 165 middle number between 29 and 39? (D) 165
(A) 34 (A) 34
B 87. 38 Faw 1 fiep TIA 1 ol Shifer (B) 35 87. Fill in the blank space in the box :
(C) 32 f:&ﬂ _ € 32 =
(DY 33 L~ JL4 | KM5 |LN20 0 38 JL4 | KMS | LN20
, MO7.| NP3 |0Q21
84. 3ft ¥ & 1 wemed # ANG FH § gewn il - Gl oy 84. If the following numbers are arranged Q
S, @ IR Y N e w a6 w PR6 | QS8 in ascending order, what will be the PR6.| QS8
e ; : o middle digit of the fourth number from ;
X , the top?
568, 988, 376, 476, 843, 7 A) RT48
376, 476, 843, 776, 292 ) M 568, 988, 376, 476, 843, 776, 292 () B
Ay 7 4 7 {
(B) RT14 ! @) 7 B) RT14
B 9 2 T2 ._Mr_ 2 ! b o
© 8 &XX o5 (C) TR48 ﬂo.\ ol | © 8 A€T TR48
E | 2 — ,
D)6 N rﬁv .mu (D) SR48 3 i Y V D) 6 (D) SR48
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88. Out of the following four options, three
are similar and one is different. Find the
odd one out.

(A) China
(B) America
(C) India
(D) Moscow
89, Naresh, a resident of Lucknow, told
e Neena Kumari that Prem who lives in
Allahabad is the eldest son of Suresh’s
father. If Suresh’s mother is the wife of

Naresh, then how is Prem related to
Naresh?

(A) Father
(B) Son

(C) Brother
(D) Nephew

90. Find the missing number in the
following series ;

1205713, 22, 3322

x

(A) 46
(B) 36
b N
© 28 &
&
(D) 20 A0
Ny
vk
N
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. Identify the missing number in the

following series :

2,5,9, 2 20,27 22
i ‘ “
@A) 14 _w
i
(B) 28 i \
Lt
S
©) 36 =
D) 22

How many ‘4’ are there in the series
of digits given below which are
immediately followed by an even
number?

24643468426594942
@) 4
®) 3
© s

D) 6

. Calculate the sum of all numbers from

1 to 20 which are divisible by 4.

(A) 60

(B) 48

(C) S6

(D) 40

A clock rings an alarm bell once at
1, twice at 2 and thrice at 3, i.e., it rings
as much as the time is. Find out how

many times it will ring the alarm bell
in 24 hours.

LAY 156

(B) 48
) 96

D) 172
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(C) RESET

Dy PEPPER |_—"

100. Al A &1 3 4, B %1 a1 ‘K @ C &
ﬁ.l.l@~dﬂ

(9B9)A (7ABA9)C (3B3)

(A) 84 %\@mﬁ\

(C) 108 (D) 95

101. fw e = faeedl # @ FH-w e Y R

T =3 <1 W RIS W i 27

0 s, W NN

| (gng)p(2rat
3 (2401

() 3| oS 4

mus — (3%3)
\ T 1, Q‘,Twn_\ 9

@ wLmun (§
© LW I g G

e

102. 3R DEAR # 28 ¥ &9 # Feag foran g
AU FACE ® 15 % ¥9 ¥ Fzeg fea s,

D) I, Iv, II, 11

@ HIGH # 8 9 § geag fen smem?
AT 32
B) 31 -
© 42 e
) i
(D) 23 %.vo
¥
&
sk
#I

~ o
L

95. Complete the following series - by
choosing the correct option :

39, 46, 60, 81, 109, ?, 186 Q
9

(A) 138
(B) 142
© 136

(D) 144

96. Out of the following options, choose the
one which is similar as 10: 13: 16.

(A) 10:16:23
(B) 8:10:15
(C) 2312923
(D) 13:16:219
97. If FRUITS : STIURF :: POLICE : ?,
then ? will be
(A) ECLOIP
(B) ICEPOL
(C) ECILOP
(D) ECLIOP
98. Which one of the following is different
from the other three?
(A) Wheel
(B) Brake
(C) Clutch

(D) Bus

SMSA-2015/3-C
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99.

100.

101.

102.

A A -

§ o) 12014 [S16 17 (@520 2138 2N arayse

Which of the optional words cannot be
formed using the letters of the given
word?

PROSPECTIVE
(A) PEPTIC
(B) VECTOR
(C) RESET
(D) PEPPER

If A means “4’, B means %X’ and C means
. then the value of

(9B9) A (7A8A9)C (3B3)
is
(A) 84 (B) 96
(C) 108 (D) 95

Which of the following options mo:q“m a
perfect (ascending) series of the given
words?

() Weekly

(II) Monthly

(1) Daily

(IV) Fortnightly

(A) 1L 1, 1v, I

(B) Iv, I, I, II

(€), M1, IV, T

(D) L Iv, 11, 11

If DEAR is coded as 28 and FACE is

coded as 15, then HIGH will be coded
as

(A) 32
(B) 31
(C) 42 A
(D) 23 oz,%_._
9@%
%l [ PET: 0.
Aw»



103. A, B, C, D @91 E %1 95 Te-iam §1 C Q aik 26 SFall, 2015 H WHaAR @ @, @

% ] 77) uuv\,

FAAAMIRI D, BATHRWE A 23, 2015 9 a1 B am?

ail ® 1 o= A & el Wil W 30

L

(A) E

B) A A

© B 'S
,\g,n/\ 0

104. >ﬁm§=%%mwo%ﬁ_ﬁaﬁ
afeft 3 ger et 8 o Ho wam) wr
arfi R g 5 o o wen| 97 R awf
IR gy AR 8 fFo o wam T W
IR T A fRah gl e ¢

@A) 18fFo o i
(B) 26 fFo o d
(©) -21 o tho $

/%\Ho oo o @:U

105. = & 7 skl § ywEEw fr (2) ¥
WA R FH-H e ey

A 152 ¢
B) 162 >
\S\
./\@\‘ 176 : %
(D) 164 fw\ 2

5

106. AR 83+87-80, 77+57=84 A, A

95+4752 "

(A) 99 (B) 73 N
)b\ﬁ\ 82 (D) 104 3
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) g

By-TeER
(C) TTEEm
(D) wem

108. 7R 0 ¥ ¥ WA (W) yHEAR o, @A

HIaR e gm?
(A) AR Fe F 9 7 T
(B) I=

\UG)TaTe Fe {_—"

(D) AT W % T oA e

109. R WW aFAl 1, 2, 3R 4 A K =
SR S A @ d et § e
T A I A rgfot /g a2
i smfa Am-wht 27

1 2 3 4
@A) 3
(B) 1

uer2 v

(D) 4

%

110. T 81 # #113 afts 39ferm 9 w1 & = &
wfl 3 wH-gR A 7y e en ¥ e d
Tt foreft am ey fiveme mo?

(A) 64

%\w@
J (©) 28"

(D) 48

103. A, B, C, D and E are weighed and all 107.

have different weights. C’s weight is

only more than A. D is lighter than B

but heavier than E. Who is the heaviest

among all of them?

(A) E

(B) A

€ B

(D) C

108.

104. A started walking towards east. He

walked 5 km and turned right. Again

after walking for 8 km he turned left

and walked for 5 km. He again turned

left and kept walking for 8 km. How far

is he from his starting point?

(A) 18 km
(B) 26 km
(©) 21 km
(D) 10 km

109.

If 26th January, 2015 was Monday,
then what day will it be on
2nd October, 2015?

(A) Friday

(B) Sunday

(C) Tuesday

(D) Saturday

If day before yesterday was Friday, then
when will Monday come?

(A) Two days after tomorrow

(B) Today

(C) Tomorrow

(D) Day after tomorrow

Four figures 1, 2, 3 and 4 are given
below. Out of these, three are similar

and one is completely different. Find
out the different one :

105. Study the pattern of the following
figures and find the number which
will come in place of the interrogative

sign (?) :

® (& W @ W O
® ,¢ (® (®

5!

w @ O
i 1s £ 110.
(B) 162 bo\\k\ e
ey 176 . /
(D) 164

106. If 83+87=80, 77+57=84, then
95+47=7?
(A) 99 B) 73
L (082 (D) 104

SMSA-2015/3-C 21

(D) 4

Eight people attended a meeting. At the
end of the meeting, all the people did a
handshake with each other. How many
handshakes were happened at the end
of the meeting?

(A) 64
(B) 56
©) 28
(D) 48

[P.T.O.
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116.

A FE W AETH WA 144 9N oFAH
ﬁﬁ&mm»w_um@a@om.@ m:%

g w1 Bt
) 1296 ,\
(B) 432
(©) 864
DT 480

117. = el #§ Q SR-a R vl w21 27
7
A —

1. IR 5 HiE gens w1 fEd 33 7, @ HA
e weasl i wad wgi e w0 ai?
(A) 34
(B) 32
() 33
p D) 35 N
119, fi= geel § ¥ w=r-t den 3 @ il
&1 ) W T
LA 3604218

(B) 1872516
(©) 1530729

) 3954278 §

22

&bQQ\

PART—4 : MATHEMATICS

If the perimeter of arectangular field is
480 m, and the ratio of its length and
breadth is 5: 3, then find out the area
of the field.

111.

(A) 7680 m?
(B) 13500 m?
(©) 3840 m?
(D) 11520 m?
116.
112. A student gets 4 marks for each correct
answer and loses 2 marks for each
incorrect answer in an examination.
He attempts 40 questions and scores
100 marks. How many questions were
wrongly answered?
L
(A) 18 -
19 3 13 Er g4
(C) 15
(D) 30
113. A completes a piece of work in 6 hours.
Bcompletes the same work in 12 hours.
If both A and B work together, then
how much time will they take to
complete the work?
(A) 6 hours
(B) 12 hours )
(C) 8 hours
(D) 4 hours 118,
114. 20 tickets serially numbered from 1 to 20
are mixed and one ticket is taken out
randomly. What is the probability that
the number on the ticket will be
multiple of 3 or 5?
9
(A) a5
, 119.
Bjie— &
(B) 5 A
QO
© 2 o
: 5
o = £
15 p\u,
>
&
SMSA-2015/3-C A : 23
=
o

115. Find out the

smallest three-digit
number which when divided by 4, 5 and
6. leaves 1 as remainder in all cases.

(A) " 241
(B) 101
©) 121
(D) 361

The HCF of two numbers is 144 and
their LCM is 864. If one of the numbers
is 96, then find out the other number.

(A) 1296

®) 432

(C) 864

(D) 480

Which of the following fractions has
the highest value?

W -
®
© =
o 2

If the average of 5 consecutive numbers
is 33, then what could be the highest of
these consecutive numbers?

(A) 34
(B) 32
(©)132
D) 35

Which of the following numbers is not
divisible by 3?

(A) 3604218
(B) 1872516
(C) 1530729
(D) 3954278

[P.T.O.



120. T =Afh 3 3% gl =™ A aiffs =« @
2 7§ ¥ faw ¢10,000 3uR fem 2 &

T 3 R T g wE?
/\& 10,609
RIS
(B) 10,309 ﬂ w\
(C) ¥10,600 | \x
(D) £10,300 Yo 0
Yo
121, IR TF FR F A € 1,00,000 B % ad
10% # ® ¥ 70 99 e @ w A, @
5 Y YA R H G TG
(A) 55,400 jvso
(B) ¥50,000 et

ey ¥60,000

/\a. - £59,049

122. 9 At g ¥ 48 o Mo A g0 W 3
AR A THEEY -G T T e

g

B AR @ =AE, N3 Fho Mo /uer -

o A 7 @ Y, R A % v 6 W A
g 7, A g A F = = Ao

(A) 6 fepo Tio /aa
(B) 4 fho o /5
5 fefo o /81
(D) 7 fFo o e

123. TF AR TEH A T @ el wue
30 i@ 3R 15 Wt B 3@ Hem ) =gy,
Sl o W@ AR wmw: 2 fw @
1 W R, 3R diifea foen s R aanse fr
HeA ¥ el et 2rgall ) stavaEar dfy

(A) 275
(B) 450

©
/% 225
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124. AR 3x+7=16%, A x 7 7 I )

”)

2 (B) 9 7
© 2
o) 7

125. 9 7 Sgal fren 1 o 9 @@ A e @

7 T ol 9 A aR fra ey, @ oA
g % 3 T Bl o v g3 oA adm ey
grft

(A) 3689 12ad
®) 49 g 7o
(€) 20 89 8qd

D) 409f 9 1079
126. 3R A et ¥ =W F AW 3:5 3, @

T I8 Sl F1 SR = g
(A) 9:10

B) 3:5

(C) 27:125

/.V\Bv\obm

127. 352 %o Ho TRy I 0 F dyww F0

qm?

(A) 9292 = Fo o
(B) 67:67 i Ho o
(C) 8484 = Fo o

D) 9856 i Fo o
128. 9 & & FR-h den s T 27
A 51

(B) 31
© 41
D) 61

ﬁoumﬁzoém com
e

/L/L/Z.

120. A man took a loan of ¥10,000 at an
interest of 3% compounded annually
for 2 years. How much money he has to
pay after 2 years?

\_~®) 10,609
(B) ¥10,309
(C) ¥10,600
(D) ¥10,300

121. The value of a car is ¥1,00,000 and
it depreciates @ 10% per annum. What
will be the value of the car after 5 years?
(A) ¥55,400
(B) ¥50,000
(C). £60,000
(D) ¥59,049-

122. Two men are standing 48 km apart
and start walking towards each'other.
If one man walking at the speed of
3 km/hour meets the second man after
6 hours, then find out the speed of
the second man.

(A) 6 km/hour
(B) -4 km/hour
(C) 5l km/hour
(D) 7 km/hour
123. A Roﬁ,m:mc_mn field with length of

30 metres and breadth of 15 metres
has to be cemented with floor tiles of
2 metres length and 1 metre breadth.
How many tiles are required to complete
the field?

@A) 275
(B) 450
(C) 300
(D) 225

SMSA-2015/3-C
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124,

125.

126.

127.

Find the value of x if 3x+7=16.
A 3
B) 9
€ 2
(D) 7

Five years ago, the age of father was
7 times of his son. After five years, the
age of the father will be 3 times of the
age of the son. Find out the present
ages of the father and the son.

(A) 36 years and 12 years
(B) 49 years and 7 years
(C) 20 years and 8 years
(D) 40 years and 10 years

The ratio of diameters of two spheres is
3:5. What will be the ratio of their
surface areas?

(A) 9:10

{Bi 325

(C) 27125

(D) 9:25

If the circumference of a circle is

352 cm, then what will be the area of
the circle?

(A) 9292 cm?
(B) 6767 cm?
(C) 8484 cm?

/\g 98:56 cm?

128.

Which of the following is not a prime
number?

s

(B) 319
€ 41\

(D) S\.

[P.T.O.
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/133, /uF g 3 1000 fho o wre 39, forert

,,\wanaumw_ 15% @9 R 3R awhl 40%
o AR AR WR TEE 4= A 3 3
25% @ EA &, @ 40% T W I FFm
=ad =7

(A) 500 o o
(B) 600 fFo 7m0

;u 400 fFo o

(D) 200 ko To

. = u% w1 ereE Aifvw, S 7w qwilar @
TF FR A TR P WK Q TF 350 fFo o
# gt 7@ | 3EE oM IR wgE e R
mﬂggw“

350 t o
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N
wn
(=
!

P@Wﬁﬂg{ﬁ(ﬁo lﬁoﬁ)—-)

WP,

8 9o 13, 121, 2 3
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qq —>
WA GIE 10 79 W ATR 12 T % fhadl
kRN i :
(A) 150 o o

z\%ﬁw\o ot

(C) 100 foho o «*

(D) 200 fFo o

..mm

129. If the sum of w and W of a number is 64,
then find the value of the number.
(A) 120
(B) 75
(C) 80
(D) 150

130

Out of the given options, which would
replace the question mark (?) in the
following?
5
50

B

35}
o
o

@A) 49
B) 8

(©) 576
(D) 24

131. If a man gives w of his assets to his son,
1 to his wife and 1 to his daughter,
then what portion of the assets is now
available with him?

11

24

2

24

S

@ =

(A)

(B)

1
Bz

132. In a 50-metre race, A defeats B by
10 metres and B defeats C by 5 metres.
Then by how many metres can A
defeat C?

(A) 15 metres
(B) 12 metres
(C) 14 metres
(D) 16 metres

SMSA-2015/3-C
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133. A shopkeeper sells a total of 1000 kg
of rice, out of which some part is sold
at 15% profit and rest at 40% profit.
Overall he gets 25% profit. How much
quantity is sold at 40% profit?

(A) 500 kg
(B) 600 kg
(C) 400 kg

(D) 200 kg

134. Study the following graph which shows
the distance 350 km covered by a car
starting from city P to city Q. It also
shows the starting and arrival times :

350

Q

—
w
(=3
(=}
-

o)
o
[=}

(o)
(=3
(=

—
o
(=}

—
o
o

Distance from P (in km)

wn
(=}

WP

8, .9 108TFIGET2 - 17 SRZEE i3
a.m. a.m. a.m. a.m.noon p.m.p.m. p.m.

Time —>

L

How much distance the car has covered
from 10 a.m. to 12 noon?

(A) 150 km
(B) 50 km
(C) 100 km

(D) 200 km

[P.T.0.
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135. If one-fifth of L of 1 of a number is 6, 139.

then what will 2 value of the

number?
Jxl 26

(A) 680 Xx)_ %
) Do o
(BY” 540 xw\
,V r
(C) 480 L 26815
o) 360 _Je8%) # € :o
i

140.
136. What is the sum of the first twenty
natural numbers?

(A) 220
(B) 200
© 210

(D) 232

137. The average age of 3 boys is 30 years i

and the ratio of their ages is 3:5:7.
Find out the age of the youngest boy.

(A) 16 years

(B) 12 years
(C) 15 years

(D) 18 years

142.

138. The sum of ages of 3 boys is 81 years.
If all the boys were born at an equal
interval of 6 years, then what is the age
of the youngest boy?

(A) 23 years

(B) 21 years
(C) 22 years
(D) 24 years

SMEA-20145/8.C 29

If m portion of a water tank is filled up

in 2 minutes, then how much more
time is required to fill the water tank
completely?

(A)

(B) 3 minutes

12 minutes

(C) 6 minutes

(D) 15 minutes

In a cricket stadium, the ratio of male
and female spectators is 3:5. If the
number of male spectators is 3780,
then find out the number of female
spectators.

(A) 4990
(B) 3150
(©) 4290
(D) 6300

A man has planted 2025 trees in his
garden in such a way that the number
of trees in a row is equal to the total
number of rows. How many rows are
there in the garden?

(A) 65
(B) 2025
© 95
D) 45

In a school, the average age of 22
teachers is 27 years. If the age of the
Principal is also added to the sum of
ages of the teachers, then the average
age is increased by 1 year. Find out the
age of the Principal.

A)
(B)
©)
(D)

49 years
27 years
28 years
50 years

[P.T.O.
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147.

143. Ram started a business with ¥50,000.
3 months later, Shyam joined the
business with ¥50,000. Again after
3 months, Krishna also joined the
business with €75,000. What will be
their profit ratio after one year?

(A) - 1102
(B) 4:3:3
() 12
(D) 2:2:1

144. To travel by an autorickshaw, a fixed
price and a variable charge per km are
to be paid. To cover a distance of 15 km,
one has to pay an amount of ¥135
and for 25 km distance, an amount of
¥215 is to be paid. Find out what
amount is to be paid to cover a distance
of 35 km.

(A) ¥285

(B) ¥275

(C) ¥280

(D) €295

148.

149.

145. Four electrical machines ring bells after
30 minutes, 60 minutes, 90 minutes
and 120 minutes respectively. If all the
bells rang together at 12 noon, then at
what time will they ring together again?
(A) 6 p.m.

(B) Midnight 12

(C) 12 noon

(D) 6 a.m.

146. A vehicle can cover a distance of 150.

375 km with 25 litres of petrol. How

If a person spends 15% of hls madilily
salary on kitchen expenses, (1% ww_
child education, 8% on family insuraieg
and 17% on other miscellafgaue
expenses, and if he is able to save ##
amount of 6,000, then find out what
is his total monthly salary.

(A) €17,000
(B) €18,000
(C) 16,000
(D) €15,000

If 2A=3B and 4B=5C,
will be

then C: A

@A) 7:5
(B) 4:3
(C) 8:15
(D) 7:15

If the ratio of cost price and sale price
is 5: 6, then what is the prafit %?

A) 25%
(B) 20%

© 331%
3

(D) 30%

If the sum of two numbers is 137 and
the difference is 43, then what will be

much distance will it cover with the two numbers?
55 litres of petrol? @A) 13,7
(A) 1375 km
B) 2
(B) 775 km 2L 22
(C) 825 km (C) 90, 47
(D) 1350 km (D) 60, 77
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